

正の数、負の数 基本の問題



point かっこをはずしたとき、

$++$ なら $+$ 、 $+-$ と $-+$ は $-$ 、 $--$ は $+$ となります。

例題

① $(+8)+(+3)=8+3=11$

$+8++3$ だから

② $(-7)+(+9)=-7+9=9$

$-7++9$ だから

③ $(+6)-(+4)=6-4=2$

$+6-+4$ だから

④ $(-3)+(-4)=-3-4=-7$

$-3+-4$ だから

⑤ $(+8)+(-5)=8-5=3$

$8+-5$ だから

⑥ $(-5)-(-7)=-5+7=2$

$-5--7$ だから

上の例題や次の㊦を見て問題にチャレンジ!!

㊦ $(+9)+(-7)=9-7=2$

(1) $(-6)+(+4)$

(2) $(+8)+(-4)$

(3) $(-8)+(-8)$

㊦ $(-6)-(-9)=-6+9=3$

(4) $(-9)-(-7)$

(5) $(+4)-(-8)$

(6) $0-(-5)$

㊦ $0+(-8)=0-8=-8$

㊦ $(+8)-(-4)=8+4=12$

(7) $(-5)+(+2)$

(8) $(-4)-(+6)$

(9) $(-4)+(+3)$

㊦ $(-6)-(+4)=-6-4=-10$

(10) $(-5)-(+2)$

(11) $(+5)-(-7)$

(12) $(+2)-(-9)$

㊦ $(-1)-(+9)=-1-9=-10$

㊦ $-5+8-20=3-20=-17$

$-5+8=3$

(13) $+6-2-6$

(14) $-10-8+5$

(15) $(-9)+(+8)-3$

㊦ $(-7)-(-2)+9=-5+9=4$

(16) $(-5)+(-6)+3$

$-7++2$ だから
 $-7+2=-5$

(17) $(-2)+(-16)+(+3)$

㊦ $(+6)+(-10)-(-3)+2=-4-(-3)+2=-1+2=1$

$6+-10$ だから
 $6-10=-4$

$-4--3$ だから
 $-4+3=-1$

(18) $(+3)-(-14)-(+15)$

(19) $(+9)-(-13)-(+8)+(+8)$